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  123   Vlárský průsmyk - Trenčianska Teplá a späť 
km

  
 Vlak  3801 

 
 3803 
 

 3805 
 

 3807 
 

  3811 
 

 3813 
 

 3815 
 

  3851 
 

 3817 
 

 3853 
 

 3819 
 

 

  Zo stanice               

0
  

Vlárský průsmyk            16 05   17 58   
6

  
Horné Srnie             16 11   18 04   

 Horné Srnie   4 57  5 57  6 57  7 53   11 58  14 12  15 02   16 14  16 14  18 12  19 58  
10

  
Nemšová    5 01  6 01  7 01  7 57   12 02  14 16  15 06   16 18  16 18  18 16  20 02  

 Nemšová   5 02  6 02  7 02  7 58   12 03  14 17  15 07   16 19  16 19  18 17  20 03  
14

  
Trenčianska Teplá 120   5 07  6 07  7 07  8 02   12 07  14 22  15 12   16 24  16 24  18 22  20 08  

  Do stanice               

                
km

  
 Vlak  3800 

 
 3802 
 

 3804 
 

 3806 
 

  3810 
 

 3812 
 

 3850 
 

  3814 
 

 3852 
 

 3816 
 

 5407 
 

 

  Zo stanice             Chynorany  

0
  

Trenčianska Teplá 120  4 38  5 35  6 35  7 38   11 38  13 52  14 45   15 52  17 37  17 52  18 47  
4

  
Nemšová    4 43  5 40  6 40  7 43   11 43  13 57  14 50   15 57  17 42  17 57  18 51  

 Nemšová   4 43  5 40  6 40  7 43   11 43  13 57  14 50   15 57  17 42  17 57  18 52  
8

  
Horné Srnie    4 48  5 45  6 45  7 48   11 48  14 02  14 55   16 02  17 47  18 02  18 57  

 Horné Srnie          15 01    17 47    
14

  
Vlárský průsmyk           15 08    17 53    

  Do stanice               

 ide v  a 30.IV., 7.V., nejde 26.XII.- 2.I., 
1.,8.V., 3.VII.- 28.VIII. 

 ide v  a 6.IV., 28.IX., 17.XI., nejde 21.,28.XII., 
5.IV., 28.VI.- 23.VIII., 27.IX., 15.XI. 

 nejde 25.,26.XII., 1.I. a 6.IV.
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